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span that is taken as the horizontal projection of the rafter. Both methods/are iIIustrated,

and the maximum values of shear and moment are compared. /

Sloping beam method " Horizontal plane method .
(left rafter illustrated) (right rafter illustrated)
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Figure 2.5b Comparison of sloping beam method and horizontal plane method for

determmmg shears and moments in an inclined beam. N
p —— Slope “ g A Hokizon TAL=>Nov Los g
b NQL J {/0 i -
/TL=DL+SL TL = DL + SL
i
18 20.12
oo =10 + 66(20 12) MM As= 10(—18—) 66
Loa//'\
= 69 psf \[ = 77.2 psf
w = 69 psf X 4 ft ‘,Léa w=T72psf X 4 ft
v > e
= 276 lb/ft = 309 lb/ft
Use load normal to roof and rafter span Use total vertical load and projected hor-
parallel to roof. . izontal span.
V= wL _ 0.247(20.12) . V= wL  0.309(18)
e B 2 e Adees & 48
=248k = 2.78 k  (conservative)
_wL?  0.247(20.12) - wL? | 0.309(18)2
M=r8 T 8 M= ¥ 3

12.5 ft-k = 12.5 ft-k (same)




